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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN [
First bemester MBA Degree Examination, Dec. 2017/Jan 2018
AN Business Analytics
Time: 3 hrs. \ A (O Max. Marks:100
o SECTION - A :
Note Answer any FOUR questions from Q No 1 to Q.No.7.
1 What is correlation ? What are thc types of correlation? . (03 Marks)
2 State Baye’s theorem. s ) (03 Marks)
3  What is a decision tree? \ R ! ) (03 Marks)
4  What is cluster analysis? = - (03 Marks)
S State the difference between PERT and/‘CPM" N ol (03 Marks)
6  Write the general structure or mathematlcal mode] of a transportation problem. (03 Marks)
7  What is the scope of analytics in busmess' D¢ (03 Marks)
N SECTION B,
Note : Answer any FOUR questions from QNo 1 to Q.No.7.
1 Explain different types of decnslon rnakmg envxronments (07 Marks)
2 Find the mean and medlanvage‘_ﬁ'om the following dlstrlbutlon;."'f/ >
Age (yrs) 10 — 207 '»2‘0,\%— 30130—-40]{40-50|50-60]60—70| 70— 80
No. of persons L 11 21 43 \V‘,. :‘32~ 9
(o s (07 Marks)
3 The scores made bv a (,andldate in a certain test are normally dlstrlbutf'd 'with mean 500 and
standard deviation 100: What percent of candidates receive scores
(i) less. than 400.
(ii) betw«:en 400 and 600. (07~
(G/lven P(0<Z<1)=0.3413) T ¥ - (07 Marks)
4 What is“Discriminant Analysis’? Brief about the steps in discriminant analysis. ".' (07 Marks)
5 Solye the following LPP graphically,

Maximize z=10x, +20x,
Subjeet to,
2x, +4x, 216
X4, 215
X;,X,20 (07 Marks)
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;\“ﬂ.rr:nyzquns facilities at six places. It has manufacturing plants at places A, B and C‘Svi‘t'h daily
pro’dug:,tioin)of 50, 40 and 60 units respectively. At point D, E and F it has three warehouses with
daily deniands of 20, 95 and 35 units respectively. Per unit shipping costs are ‘given in the
fo]lowing,,tabl\e'. Firm wants to minimize its total transportation cost. &\

N\ /)

Find the initial feasible solution of the above transportation problem by least cost method.
2 o2\ (07 Marks)

A0\

Draw a network correspor\idi'gig«“te the following information. Obtain the early and late start and

completion times and determine the critical activities. o \>0) (07 Marks)

Activity | 1-2 | 1-3 256 [ 3-4 3,—f5’ 11]'4—6 5-6 ] 5-7 ] 6-1 |
Duration| 4 | 6 g 1. 7 )| 6 5 | 19 | 10 |

'SECTION - C
Note : Answer any FOUR q;{gstions from Q.No.I to 0.No.7.

The following data relate to age of emp_qué,es a,ﬁ?d;jghe number of days they reported sick in a
month. Calculate Karl Pearson’s coefficient of correlation. (10 Marks)

Age (yrs) [30]32 35 1407 48 | 50 33755 57] 6l

No.ofsickdays | 1 | 0 }-245 |2 a6l 5178
The following data relate tov,thé/‘écyoi'es obtained by 9 salestman of a company in an intelligence
test and their weekly sales (in:000’s 3) 2

S)
2 |

[Testscore | 50 60| 50 6080 50(80[40[70]

[ Weekly sales 30 | 60140 501]60[30]70]50 60 |

Obtain the regressio’n equation of sales on intelligence test score of salesman. If the intelligence
test score of a salesman is 65, what would be his expected weekly sales? (10 Marks)

What is deci'sibin: theory? Explain its characteristics and discuss the steps invoived in decision
making process:”’ © < (10 Marks)

An agriéﬂhurist has a 125-acrefarm. He produces radish, muttar and potato. Whatever he raises
is sold fully in the market. He gets % 5 per kg for radish, ¥4 per kg for muttar and I 5.per kg for
potdto. The average per acre yield is 1500 kg of radish, 1800 kg of muttar and 1200 kg of potato.
To produce each 100 kg of “adish and muttar and 80 kg of potato, a sum of 12.50 has to/be
used for manure. Labour required for each acre to raise the crop is 6 man-days for radish and
potato each and 5 man-days for muttar. A total of 500 man-days of labour at a rate of ¥ 40 per
man-day is available. Formulate this as a linear programming model to maximize the
agriculturist’s total profit. (10 Marks)
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5 A small project is composed of 7 activities, whose time estimates are listed in the 1él§‘l'é'below.

Activities are identified by their beginning (i) and ending (j) node numbers
“Activity (- ) Estimated duration (weeks)
AN Optimistic | Most likely l Pessimistic

L1 e

1
2
1
2
2

N /
Q /

(1) Draw the network diagram of activities in the project

(i)  Find the expected duration and variance for each activ_i’pjf. What is the expected project

length?

(iii)  Calculate the varlaﬁéé};"aﬁd standard deviatioii%’_i@f the project length. what is the
probability that the project will be completed at least 4 weeks earlier than expected time.
o (10 Marks)

(Given P(0<z<1.33) = 0.4082) >

6 Solve the following assignment probiefﬁf}qr optirﬁpl solution using HAM.
Time taken (in minutes) by 4 workers

15742463
3,149 |52 48] 64

41451607155
7 Write a short note on the following:, e
(i) Design of experiment. /7 -

(i) Data warehouse. el

(iii) Linear programming. N\

(iv) Measures of dispgrSi‘ohi» NS

SECTION -D
CASE STUDY — [ Compulsory ]

Solve the following transportation problem for maximum profit using V
solution and MODI'method for optimal solution.

' Per unit profit (%)
Market
B C D
18 6 25

A

Warehouse X

Y 8 7 10 18
Z 14 3 11 20
~/Availability at warehouses: Demand in the markets:
X : 200 units A: 180 unis
Y : 500 units B : 320 units
Z : 300 units C : 100 units
D : 400 units
x % %k * k

30f3

AM‘._er initi

(10 Marks)

(10 Marks)

al feasible
(20 Marks)



